1) Delno koreni:
a) J18=
b) v20=
) J27=
d) va0=
e) /45=

2) lIzraCunaj:

a) V218 =
b) V2:7-7-8=
c) V13-/52 =

d) \/E\/E:
5 \24

3) Izracunaj:

a) V15-43=
b) /54 ++/96 =

4) Kvadriraj:
a) (4+«/§)2=
9 (-36] -
0 (5+248) =

5) Kvadriraj:

a) (V5-3) =

b) (243++7) =
c) (x/1_4+\/§)2 =

6) Kvadriraj:

a) (245-2) =
b) (4v6++3) =
0 (3VB-2V5) =

7) lIzraCunaj:

a) (\/5—7X\/§+ 7)=

UCNI LIST — Radunanje s koreni

f) V48 =
g) V54 =
h) /98 =
i) V117 =
j) V125 =

b) (\/§+\/§X\/§—\/§)+1:

e)/3-4/27 =
f) V4-10° =
0) VB-72=

h) /21- /ni:
5\ 11

c) V14:/21 =
d) V48 —+12 =

d) (2-3V6) =
e) (\/§+8)2 =
f(V2+7) =

d) (I

&E

d) (5v2+246) =
e) (3\/5—2«/5)2 -
f (748 -5v2f =

) (2+5) B0 =
d) (3V2-4) +32=

k) 126 =
1) V128 =
m) /180 =
n) v150 =
0) /450 =



8) Poenostavi:

a) (5J§—3\/§)2+(3+J§)2 -

b) (4V3+28) ~(3V12-5v2) =
9 (90448) (28] -

d) (3+ ) (16— 6\/_):

(V8-

e) ) 1:

9) Racionaliziraj:
a) i:

V5
2

ﬁz
1+\/§_
7 =

b)

c)

10) Racionaliziraj:
2 15v2-676 _
27632
b) 56-243
262
0 10J5-4
w2410
) 1+18J6
42 -3

11) Izracunaj:
710 - 45 2
a) 2\/5 —\/— +(1—3\/§) =

b) 3;;18:5—_ J96 + (2 73 )

12) Izracunaj:

2) (3v10-2v5f — (V14

j) (7+46) +%—(J§+SJ§)-(4J'—J§)=

6-3v2
3J_ N
f W10
w5-502
)26\/_ 85
3\/§+\/—
142+ 3445

) 3\/1—0+4x/§ -

50—14/5
2\/— «/_ \/_ (3 4\j_)

d 46\2 +28\3 18+2\3

NI N N

—6)- (V14 +6)— 128 =

) SE R () (7)) -
) AT (5205 (1= ) -6) - -

d) (1_\/5)2 J54 + 12+15\2 (2 %)2:
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RESITVE UCNEGA LISTA — Racunanje s koreni

1) a) 32
b) 245
c) 33
d) 210
e) 35

2) a) 6
b) 28
c) 26
d) 3
e) 9
f) 2000
g) 24
h) 5

3) a) 35
b) 76
c) \/%
d) 243

4) a) 18+8V2
b) 14-6+5
c) 37+2043
d) 58-12v6
e) 69+16+5
f) 9+214

5) a) 8-—2415
b) 19+ 4421
) 16+4y7
d) 15-10v2
) 24+1243
f) 17-2v30

6) a) 22-4.10
b) 99+ 24+/2

c) 92-24410

d) 74+403

e) 59-24./6

f) 162

f) 443
9) 36
h) 74/2
i) 3V13
j) 5v5

k) 3V14
) 82
m) 65
n) 5.6
0) 15v2



8) a)

9) a)

10)a)
b)
c)
d)
e)
f)
9)
h)

11)a)
b)
c)

46
0
9

34-2042

112465

—78+926
1
4

9-33
5442

+2

3-4/3

J2 -1

8+2\/§
7

3+443
56 + 24/2
2410 - 342
53 + 242
23 +4/6
232 +4/5
44210
5,10 —+/2

22 \2
151— 233
—41+192

d) 8-5v2

12)a)
b)
c)
d)

132 - 6842
46 - 910
15-14+/3
14+ 2./6



